U

DEAVING MO

S-0208

IIII.-Tl'"‘-E DRAYWHG, THE STRUCTURAL DESIGN DISCLOSED THEREM, THE TECHMICAL DATA AND ENGINEERMNG SERVICE
REPRE SENTED THEREEY ARE THE EXCLUSIVE PROPERTY OF HUCK BNTERNATIONAL, INC,

- W el [

o O —
@ -

! !

HNNY,

f
@ M

$Q - - ?Q
i ; i

NUT BEFORE MOUNTING

020 MAX
PROTRUDING

sl

NUT AFTER MOUNTING

PART NUMBER CALLOUT
D_ () 6000-()-() 5>

MODEL

STRAIGHT
LOBES

G1

TOP PANEL
GRIP THK

i (] p—

=

/
2

| T e |

;

G1

o

TOP PANEL
GRIP THK

COUNTERBORE
PANEL PREPARATION

035
025

g2°

HNNY
Lg_.l>

@a

L~
“
G2

TOP PAMEL
GRIP THK

COUNTERSINK

e p— i

23

&
THREAD s005| @9

oo

= 1060

&R

*Wﬂﬁm

SEE CODE
FOFT

[>

HARD| -

£.005

X

[>

04, 04F 187

191

312].250

06, 06F | .281 212

218

2321 .270

A58

08.08F |.312]. 045| 228

234

48] .281

3, 3C.3F | 375 265

272

375} .330

4,4C, 4F | 437]. 323

332

A37].

JABT

5,5C 625] . 46

A4

B25] .500

4568

050

6, BC B87]. 508

508

B72| 562

562

GRIP

CODE &

G2 K

GRIP
CODE

G

G2 K

SERIES

V¥

AA 1030 - 0491040 - 0741070 E

251 - 312

24 -

354 1.350

A | 050 - 062|075 - 1041100 FF

BA

355 -

S85).381

BB MUA 05 - 135).131] F

413 - 3T

AB6 -

A16) 412

B [063 - 125|136 - .166] .162] GG

WA

417 -

A48) 444

cC e JBF - 188194

AT6 - 438

A48 -

ATS) ATS

G126 - 187|198 - 229] 225

NIA

ABQ -

S10).508

G
HH
oD A H

260].256

439 - 500

SN

- 341].537

D |.188 - 250 291).287] JJ

WA

542 -

572] 568

EE A, 3231.319] J

501 - 562

373 -

B503].599

THREAD]
SE |THREAD SIZE P
CODE

LEAD

THREAD
SEE
CODE

THREAD SITE

LEAL

MATL
CO0E

NOME
SL

FidEsH

PASSNATE
LUBRECANT

04 112-40 UNC-28

SC

1218 UNC-2B

06 J138-32 UNC-28

-]

A75-24 UNF-28

SMNGLE

08 164-32 UNC-28

gC

A75-16 UNC-2B

3 A90-32 UNF-28 | SINGLE

Q4F

A12-40 UNC-28

I 90-24 UNC-28

QGF

138-32 UNC-2B

DOUBLE

a4 250-28 UNF-2B

QaF

164-32 UNC-2B

4c 290-20 UNC-28

IF

180-32 UNF-28

QUAD

-l 212-24 UNF-2B

4F

220-28 UNF-28

U _|DCN 2782 12-08-04

REV| DESCRIFTION/EC NO| DATE

UNLESS OTHERWISE SPECIFIED
ALL DIMENSIONS IN INCHES

TOLERANCE UNLESS OTHERWISE

NOTED:

X =305 ANGLES $0.5*
XX =202
AXK = 2015

-
-

Alcoa Fastening
Systems

ALC0,
AEROSPACE FASTENER DIVISION

TITLE

FIXED FLARING NUT,
NON-LOCKING, ALL SIZES,

3724 EAST COLUMBIA STREET
TUCSON, ARIZONA 85714

PHOME 520 519-7400
FAX 520 519-7427

vrwrwlalcoafasteners.com

STANDARD
“aoaizoos | D()6000
owem aLs [oRMWMGEO. S-0208
GAGECODE  QHDWT |°
e SCALE: 311 | SHEET10F 3 )




- e X et [ 7 7 7‘
= - D =
@ Y / /
[~ pd d * /‘/
| { ! oR1 | T 82°
= | = - oM 9Q -+ -+ oQ - PQ - R
Q - STRAIGHT / Pt /
m LOBES /J,.-I
; NUT BEFORE MOUNTING é 4*’
Z 0.51 MAX b= 0.7620.13
3 PROTRUDING oL ™ el G2 b
TOP PANEL TOP PANEL TOP PANEL
GRIP THK GRIP THK GRIP THK
COUNTERBORE COUNTERSINK
PANEL PREPARATION
L] oa ‘oa0[ o "
NUT AFTER MOUNTING THREAD | | @M 203 003 | U7 | o2
SEE CODE + 0,13 D> TS ORI fnjios £ 0,13 b
PART NUMBER CALLOUT M2 M25 | 529 | 3.77 387 | 4.04) 661 | 635 ] 3.30
D () 8000-( )-() [‘5:;, M3 6.35 | 4.52 476 (485|793 | 686,
M3.5 714 | 513 |1.14] 5.41 | 555 843 | 714 | 7
M4 7.93 | 548 579 |595] 883 ] 838
OGEL M5 952 | .35 690 | 7.04] 952 | 965 | 478
M& 11.11] 795 |, 1820 843]11.11]1270
M8 12.45[11.20] " [11.10] wa [13.49] 14 27]11.89
g ARhisE amel gy ez |k [SRP] g a2 K
g B> [ ore - rasfica - veslirel € Te36 - 7ozlear - esslese
& A |125 - 157|189 - 264|254 FF NA | 900 - 9.78 | 9.68
g:- E:} BE A 265 -343|333| F | 783 - 853 | 978 - 105711046
E"' B (158 - 318|344 - 422|4.11| GG A 1058 - 11.38]11.28
§¥ GG WA 423 -503]493]| G | 954 - 11.13)11.38 - 1247|1207
53 C |3.19 - 475|504 - 582|572 HH NA 1218 - 12.95[12.85
S DD | NA 583 -6.60[650] H |11.14 - 12.70|12.96 - 13.74] 13.64
gg D |4.76 - 6.35|6:61 - 7.39|7.29| 4 NA [13.75 - 14.53[14.43
@i EE| WA |740-820[811] J [1271 - 14.27]14.54 - 15.32[15.21
& D B
: THREAD THREAD
g% SIZE b LEAD SIZE b LEAD
Y - CODE | THREAD SIZE CODE | THREAD SIZE
%E m FINISH M2 | M2x0.4-6G M4 |M4x0.7-6G
§' NONE |PASSIVATE M25 |M2.5x045-8G METRIC [ 1 ME x 0.8-6G METRIC
= o EarE M3 | M3x0566 ME | M6 x 1.0-6G
gg M35 | M35 %0666 M& |M8 x 1.25-66
TITLE
gg U | DCN 2782 15-08-04 P>y Alcoa Ffﬂﬂmﬁﬂ FIXED FLARING NUT,
REV| DESCRIPTIONEC NOJ _ DATE ALCHA - i :
Eg Systems NON-LOCKING %LL SIZES
UNLESS OTHERWISE SPECIFIED METRI
;ﬁ ALL DIMENSIONS INMILLIMETERs | AERGSPACE FASTENER DIVISION | FART NOVBER
e TUCSON, ARIZONA 85714 12/08/2004 D( )6000
£2 | TOLERANGE UNLESS OTHERWISE PHOME 520 519-7400 — DRAVNG MO
Y ot TS S gt FAX 520 519.7427 LS et §-0208
%E" XX =055 i www.alcoafasteners.com CASECOOE  gHDWT |™Y U
(EE | SRS ks SCALE: 311 | SHEET 20F 3




U

DEAVING MO

S-0208

MATERIAL:
D& DSL 6000: 304 CRES PER AMS 5639 OR AMS-QQ-35-763

FINISH CODE:
D 6000: PASSIVATE PER AMS QQ-P-35

DsSL 6000: DRI-FILM LUBRICANT PER MIL-PRF-46010
NOTES:
E_} “N" DIMENSION FOR GRIP CODE "AA" 15 025 INCHES OR 0.84mm.

E} GRIP CODE "AA” IS AVAILABLE ONLY FOR THESE SIZES:
INCHES: 04 THRU 4; METRIC: M3 THRU MG

E:> SOFT - DIMENSION FOR SOFT ALUMINUM ALLOYS & PLASTICS

E“,} HARD - DIMENSION FOR HARD ALUMINUM ALLOYS & STEEL

:5;:» “BE", “CC", ETC. IS FOR COUNTERSINK ONLY,

[@;- IF HEIGHT OTHER THAN STANDARD IS DESIRED, INDICATE AFTER PART NO.
INGHES: (3 DECIMAL PLACES) |E. D 6000-04-B- 632

METRIC: (2 DECIMAL PLACES) I.E. D 6000-04-B-16.05

[::f:,':- ALL TOOLS ARE AVAILABLE ONLY FOR THESE SIZES:
INCHES: 04 THRU 4; METRIC: M3 THRU M&

8> -2B THREADS PER FED-STD-H2B; "M" THREADS PER ANSI/ASME B1.13M.

9> GRIP CODE.

} THREAD SIZE CODE,

E. FOR INSTALLATION TOOL DESIGNATIONS: “B" IS FOR COUNTERBORE & “S” IS FOR COUNTERSINK.

IIII.-Tl'ﬂ'ﬁ DRAYWHG, THE STRUCTURAL DESIGN DISCLOSED THEREM, THE TECHMICAL DATA AND ENGINEERMNG SERVICE

REPRESENTED THERERY ARE THE EXCLUSIVE PROPERTY OF HUCK INTERMATIONAL BC,

> THREAD DIMENSIONS APPLY PRIOR TO APPLICATION OF DRI-FILM LUBRICANT. POSSIBLE
THREAD TIGHTNESS DUE TO LUBE BUILDUP WILL DIMINISH FOLLOWING ENGAGEMENT OF

MATING PART.

INSTALLATION TOOLS: HAMND INSTALLATION TOOLS:

ARBOR PRESS TOOL KNSB559 ( [i>)-( [12>) NOSE PIECE DADBS613-( [ii>1( [i2>)

PNEUMATIC TOOL.: B:> PULLER DT1710-( B}H Eb)

NFT7503 ( Iﬁ;}-{ J' HANDLE ASSEMBLY TA7533

= TITLE

U_|DCN 2782 12-08-04 Pvy Alcoa Fastening FIXED FLARING NUT,
REV|DESCRIPTIONECNO| DATE | accoa  Oystems NDSN-LDCKIHG, ALL 512§5,
UNLESS OTHERWISE SPECIFIED AT S e TANDARD & METRI
ALL DIMENSIONS IM INCHES 3724 EAST COLUMBIA STREET “ioaiz004 |7 "R D )6000
TOLERANGE UNLESS OTHERWISE Lo Bt L = T
N oiae | oisien ‘o FAX 520 519-7427 JLS S-0208
WX =102 = www.alcoafasteners.com i CGAGECODE  gHDWT Y Y
o _ SCALE: 111 | SHEET30OF 3




